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Histogram (Spreadsheet2 in Diagram2.stw 10v*20c)
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Pie Chart (Spreadsheet2 in Diagram2.stw 10v*20c)
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Bivariate Histogram (Spreadsheet2 in Diagram2.stw 10v*20c)

 Export:FDI:   Chi

2

 = 40; p = 0.4703
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3D Contour Plot (Spreadsheet2 in Diagram2.stw 10v*20c)

FDI = Spline
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Ternary Graph (Spreadsheet in Diagram3.stw 10v*15c)

ExportGrowth = -14.2708*x+17.5841*y-1.6462*z+7.1396*x*y+115.7095*x*z+2.2371*y*z
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Line Plot (Spreadsheet2 in Diagram.stw 10v*10c)

 Case 1

 Case 5

 Case 7 GDPgr

FDI

TaxRate

Budgetbalance

RefinancingRate

-6

-4

-2

0

2

4

6

8

10

12

14

16

18

20

22


oleObject8.bin

image10.emf
Matrix Plot (Spreadsheet in Diagram3.stw 10v*15c)
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 Industry:Agriculture:   y = 27.0582002 + 0.0312568374*x; r = 0.0369; p = 0.8961 Services:Agriculture:   y = 73.0242866 - 1.03206952*x; r = -0.7754; p = 0.0007 ExportGrowth:Agriculture:   y = 8.0397587 + 0.121245272*x; r = 0.3654; p = 0.1804 Agriculture:Industry:   y = 18.2616725 + 0.043554007*x; r = 0.0369; p = 0.8961 Services:Industry:   y = 81.6031577 - 1.03625871*x; r = -0.6596; p = 0.0075 ExportGrowth:Industry:   y = 7.02902875 + 0.121842334*x; r = 0.3111; p = 0.2591 Agriculture:Services:   y = 50.3046739 - 0.582582*x; r = -0.7754; p = 0.0007 Industry:Services:   y = 49.8876087 - 0.419791097*x; r = -0.6596; p = 0.0075 ExportGrowth:Services:   y = 16.6523105 - 0.118116696*x; r = -0.4738; p = 0.0744 Agriculture:ExportGrowth:   y = 8.0124929 + 1.10136286*x; r = 0.3654; p = 0.1804 Industry:ExportGrowth:   y = 19.4060193 + 0.794293015*x; r = 0.3111; p = 0.2591 Services:ExportGrowth:   y = 72.7013061 - 1.90076661*x; r = -0.4738; p = 0.0744
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Icon Plot (Spreadsheet in Diagram3.stw 10v*15c)

 face/w = Agriculture 

 ear/lev = Industry 

 halfface/h = Services 

 upface/ecc = ExportGrowth
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Line Plot (Spreadsheet2 in Diagram.stw 10v*10c)

RefinancingRate = Spline
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Scatterplot (Spreadsheet2 in Diagram2.stw 10v*20c)
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Box Plot (Spreadsheet2 in Diagram2.stw 10v*20c)
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Line Plot (Spreadsheet2 in Diagram.stw 10v*10c)
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Scatterplot (Spreadsheet2 in Diagram2.stw 10v*20c)
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Line Plot (Spreadsheet2 in Diagram.stw 10v*10c)

RefinancingRate = Spline
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